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WA 36,067 12kg 1,296 1,080 864 Rig fth
FEIZA LA 6,310] 10kg 1,728 || 1,296 | 864 1| BRE K& b
ZIES 683] 10kg 5,184 17| 5,184 1| 5184 1| &H HE it
H% 52,182 13kg 2,376 1,998 1,620 3 A =1 )
FrY 41,055  10kg 2,484 || 1,890 1| 1,296 || ZEH& b
EFS5NAZED 7,019] 200g 108 — 86 — 65 —| & f&EfE fth
=LA 1,959] 200g 108 — 95 — 81 —| #EL b
HfaZE 4, 461 3kg 1,296 —| 1,134 — 972 - X7 f&HF fth
AN 2,813 dkg 2,160 —| 1,959 1| 1,620 17| &M =M i
k< k 6,812 dkg 1,944 1 1,535 7| 1,188 1| B HAX fh
Ep oY 11, 481 5kg 2,700 —| 2,376 —»| 2,052 -] £E B it
E—<> 3,294 130g 106 1 103 1 16 || BERS =&
AL & 18, 495 5kg 1,944 —| 1,512 > 1,080 = X% %*HE b
Fhul & 10, 740]  10kg 3,024 || 2,700 1| 2,376 1| ERE it
f-FRE 24,8001 10kg 2,322 2,046 324 dtimE o
LA R 9,790 10kg 3,456 || 2,970 || 2,484 F)N fERE b
Jowyal)— 3,199 6kg 3,888 1| 3,024 || 2,160 7| &8 B b
Sl S48 1,502 3kg 2,268 = 2,049 || 1,728 =] ZH
£ LW 1,875 200g 238 — 184 1 130 1] ®S b
ADEITF 2,510 200g 93 — 79 | 65 || R¥ fth
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HA 34,9231 10kg 7,020 —»[ 3,942 | 864 || #arl b
WEhA 10,180] 10kg 4,536 1 3,322 1| 2,160 1| ZEE 4t
FoE LA 3,500 10kg 4,536 1| 4,322 1| 3,240 7| #Fmbl 4t
Rehy 3,824 10kg 4,860 || 4,050 7| 3,240 1| BRE =i b
AL 17,660] 10kg 6,480 —| 5,248 1| 4,320 1| &% #
B 10,380] 10kg 6,480 T| 4,860 1| 3,240 || &FHF #
oard—ILK
w2 7,664 240g 540 459 378 &8 R
BEAQY 722 8kg 14,040 1| 11,016 || 7,560 || #mE 1
*—4 1,648] 3.6kg 2,916 1| 2,754 1| 2,592 —| ZiE b
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